PM:&‘CS ||_$A" r\(bwu):er 19,2013

B g*xml e 7\«0&0’ — (e w‘a heee at ewd of clacs 11..:,0(“"2
oc DUL"'Q'-OQP Mca office late,

¢ Ploae ook oven Jour pepec omd Spend Somo hay
Q\m\.ua.{—c'nﬁ v+ OF You didat Ay et wellag ypu;/ /}aQ

N‘oﬂxl/lf) (‘}u»-.\gﬂ_g if /UO?L{I-'«\S Czcwur.s&g



g—\-cd—:c_ Zqut)ibcivm
//" e

A object 18 A STabic ec,uili‘arivm (A)o‘i’ Moving ol toi-a-h}\;])

'IP —
SF =o
i{ ~0 (abouwt OL_Mﬁ aw.ig)
/Cm-vr ot ‘P‘"’-'L\ /Cm-\'r of tr\av'-\'\ /Cm-vt' of szw'-\f\

,lw? T F I (N ¥ I
L \ To
/ /

/, /,

NN~



W“F’"‘“ ‘MK‘M beaam ¢ A STafic eqa-'lu'la/‘u'wv
MmzZi2 ‘2} V\N\m\e ' S"WD(-T >
I@m,%w 10 ™M located 1@, whetic X 7

How much N‘eirjﬁ"' does
o SepEocT ¢

N=39.2 ¥ (3ves)




M

ledder O«ssedns'f Cr: e bumlase Loall

| adder Ld.n'\(—x &0 W

What s M:nimum /{’(J
xba‘l’- lwdder + F(oof Such

‘Hux\- e (cuider
Aoes MoT Sip






é_’[; —o

0= ma (15) = My(H)

Zefl\é 2wl (MN,HD
pt e TR




i__F tO= T"‘ M?
VU p
, T =15 H(430) (4.%)

£y, +—
0= NSZA(I)-T

Z_F\J-.c‘) '*T






Weaa 6T
Medizn 6&

Physics 113 - Fall 2013 - grade distribution for Exam 2 (fine binning)
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Physics 113 - Fall 2013 - Exam 2 grade distribution
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